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When the optical input level to a receiver changes be 1dbm how the level change 

A. 1db
B. 2db
C. 3db
D. 4db

Answer: A 

QUESTION: 18 

What Is meant by the expression 'Physical node size?
 

A. The number of subscribers served by the HFC network
B. The number of potential subscribers who can be served by a single node
C. The number of subscribers connected by coaxial cable to a single Optical Node
D. The size of the area that can be served by a single optical transmitter

Answer: B 

QUESTION: 19 

What are the 3 benefit of the HFC network compared to an all- coaxial network? 

A. Improves overall reliability and end of line signal quality
B. Facilitates delivery of Narrowcast (targeted) services
C. Eliminates the need for outdoor power supplies
D. Reduces noise accumulation in the upstream signal path
E. Reduces the amount of fiber in the network

Answer: A, B, D 

QUESTION: 20 
What are the three key benefits of a Hybrid Fiber Coaxial network compared to an all-
coaxial' network? (Choose three) 

A. Improves overall reliability and end-of-line signal quality
B. Facilitates delivery of Narrowcast (targeted) services
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C. Eliminates the need for outdoor power supplies
D. Reduces noise accumulation in the Upstream signal path
E. Reduces the amount of fiber in the network

Answer: A, B, D 
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